Efficiency vs dr

0.2

o ©

o o

>
I

©
o
=

T

B *H )

#

e

o

N
|

| 'h#

II 1
—s— DQM_original_step2_ttbar-phasel-newgeom
—e— DQM_pixelCPETemplate_step2_ttbar-phasel-newgeom

.| —— DQM_pixelCPETemplateCutChiSquareNew_step2_ttbar-phasel-newgeom

iy
TTT T T T

1072 107

=
S
w

1
TP min AR

[ Efficiency vs dr (track,jet) |
.§0.01
d).009
E
Q.OOS
9.007
>
$9.006
2
35=@.005
@
0.004
0.003
0.002
0.001

Ratio

107 1072 107
AR(TP, jet)

Efficiency vs pu

-0.02——————
S o U L S SO SO
N e e I R SRR A SR SR

e o T

o) r . . .
K I N AR SR o (NS S
t . . . . . .

LT, SRR TN 1 N O e e
Y T

0.008F
0.006F
0.004F
0.002F

20 30 40 50 60 70 80 90 100
Pileup



	Contents
	Page 1


